@ 6a<0

@3x2—4:2

D 3x-5<0

(@)(561 -2)3#4

@ (3x-4)3<2




H H4-o] 4 8o 15 &
T FoA 7P A2 el

2. 9
%

® 10 @ 12 ®)15

~&B

ofH A4 x
dx+ 15 > 72
4x > 72 -15

4x > 57

' 4




T(x—2)-3(2x-3) = 4x
Tx—14—-6x+9 > 4x
3x< -5

wetd BEshe by 2 34t -2 o)t

< ——
t=73




@ 2 @ 3 3®)4

@ 5 ® 6

o] =lofo} g},

—2x>-x-a5 A2StH 2x<x+a, x<a
ThEst= HEY ol A= 1, 2, 3, 4oJojofstBER2 4 <a< b




5. g B x=0& sz 2= #54E BT

i

o},

B7]
@ x<0 © 3x+1<4
© 4x>16 + 2x ® Tx+12>4x

v V. v Vv
0
o ol
®

0x
n
®

~&B

@x<0,0<0— AA.
O3x+1<4,3x<3,x<1,0<1—> %
©4x>16+2x,2x>16,x>8,0>8 — AA.

@7)5"'12436,3)62—1,02—%—)7@;_




6. b<a<O0<c ¥, =754 FT A

@ 26+3>2a+3 @ab>bc
b
@—5—§<—5—§ @ bc > ac

® -5b+1<-5a+1

@ a<c=ab>bc (b<0°]7] HZof)




7.

thg BIleA] AAREAS B Foole

7]
@ 3x>-3 © 5x%2 <2
® —x+1<2x-4 ® x>0

® 3x+2<5

® 3x+1>3x-5

iy

it

0
it

v v v Vv v viVvy
0
iy

0z
il
O ®@ 0O O

0
o

~&B

AAREAS A
@ 3x>-3
3x+3>0

©5x2-2<0
© —x+1<2x—-4

-3x+5<0
@3x+2<5
3x—3<0
® 3x—3x+5+1>

6>0

QApgol £A==R o

2 o x o] 571 91 AL Fee

x ] 47} 2 Aol et

—x—2x+1+4<0

0

455 4o ohic},




¥

Py
o
i

x7F 5 W, ke 2719 254 F st
B7]
@2x-127
@I2x—|—3>4
@ 5X+4<3

@5x—-1<x+5

v VvV v Vv
0%
o o
©

02
L
@)

~&B

@D2x-127, x>4

1

© -2x+3>4, x<-3 @7 BRE S5
1 —

© cx+4<3, x<-5 (W7h BT &)

@5x-1<x+5, xsg




A

.x+120
.2x+3<1
.x—5>6
.2(x+1)=0
.3x—-4<2

omnr 4J

O 1,c




10.

+
—_

= 7F
[ 3|

=]
T

@ 17 @ 270 @ 37 @ 47)

~&B

L 2 2o ool 6g ot

2(x+1) > 3x—40]B=2
2x+2>3x—-4
—x>—6

x<6
webd BHEate Apdse] s 5 Aol




@)-1 ® 0 @ 1 ® 2

O -2

<~

2x—3x+9 <24+ 12x




12, x< 3 =
Fatodet
> =4 3
> ®HE. 5<a<--

S7ba Q) a o grel WelE

5—2a
<

4 < 5

12<5-2a<15
7<-2a<10

7
<a< B




13.

a-b<0,a+b<0,b>0% 0, ot = 22 ¢S ALY

@ lal > |b| @ a<b ® ad < b3

@ a<0 @

B

D®a<0,b>0,a+b<0°lA a2 dHgto] b o] AHZGHETE
Ath= AS & 4 AT Jal > 1b]
@a-b<09X a<b
®a®<0,b3>0.. a®<b?
@b>0,a+b<0°Xa<0
1

® lal > |b] ©17] W] E’ < ‘Z'




14.

x<4 Do, 2x+1 9 gho] Mel=?

DO -2x+1<-7 @—2x+1>—7

@ -2x+1>7 ® —2x4+1<7

® -2x+1<7

x <4 G 25 FF T 1S
Zolgieh)
—2x+1>-7




15.

REH Br- o <78 WHAE BE ADS o %9 TS Foroleh
> =
> &gE: 3

o} WEHe A% x = 1,2 0|92 142 =3 o]tk




5x—4

®5 @-3 O®-1 @3 ®)s

,2x—3a>5-8x9 o7t A2 ZE o, a9

-4
b of A 3x < 5x—4 x> 2

x <

2x —3a>5-8x A 10x> 5+ 3a

5+ 3a
>
10
= BE0) g} Az oDz
543
T2 54 3a=20

a=>5




old & x & 25 4 Ao A’

17.

sholat.

23

T

N
__o.._
o
ofn

Gl

T

Al Zk2 oA

.
a3

-

ul

- <6.8
2<

3
Al 2] of| A

A 6.6 < 2x +

°

=

=

3

2

wh2hA] 2x +

Hol| 2 5 HolH 5.1 <2x< 5.3

2.55 < x < 2.65

AL

~&B

ol

&

T

__OL
TR
of

el

=]

3l

_XA
4
“
el

™M AN




18. o= 754

o
e

Hnog

|

g A

2
Da>08 W, ax+1>3 = x> =
a

2

@a>049 ], —ax+2>4 = x<-=
a

2

(@)a<0?—imﬂ,—ax+2>4 = x> -
a

C@)a>0?:l”ﬂ,—ax+4>2 = x>g

a
2
®a<0¥9M,—ax+4>2 = x> =
a

i
H
il
kl
il
'
B
o
i)
)
=

~&B

® -—ax+2>4
—ax> 2

uhR 2] epect.
2

x> ——
a

@ —ax+4>2
—ax > -2

a<0°]0nZ —g>0, FHE —¢ 2 o]k BE535 o] vk




19. E—%&u(d b)x— 2a>4b 9 W7t x < -10 ¥ o, B
a-5b<0& Zofet

Ch "
| —

>
|>X-IE|" x <

oHd =

| o

=

T O

21 (2a+ 3b)x +

B

(a=b)x>2a+4b

- 2a + 4b

a->b

2a + 4b = —10a + 10b
12a = 6b, 2a=0b
a-b<09A —a<0 . a>0
(2a + 6a)x < —a+ 5 X 2a
8ax < 9a

o, < =
T3




20.

RS ax+3224-x)+1& T

a2 3 T3l

> E!

> ®e: -3

~&B

ax+3>2(4-x)+1
ax+3>8-2x+1
ax+2x>6
(a+2)x>6




